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1
Introduction

The following was captured in the Chairman notes:
	eMBB HO:

1) The eMBB handover indicator is per UE?
For per DRB, need wait for the response from RAN2
An indicator can be included in the Xn HANDOVER REQUEST message to indicate an eMBB handover is pending to RAN2

2) new cause value in the HANDOVER PREPARATION FAILURE message, e.g., “eMBB not supported”?
3) Source node to signal the desired fallback method to the target node in the HANDOVER REQUEST message,Target node to signal if the (e)MBB was accepted or the proposed fallback mechanism in the HANDOVER REQUEST ACKNOWLEDGE message
Intel, NN: Agree with E///’s solution

NN: What’s the scenario that the target node can not support eMBB  HO for one UE while not for another UE?

E///: depends on UE capability

Samsung: If the target can not support the eMBB HO, it will fall back to legacy HO.

ZTE: For target node, there is not too much differentiation for eMBB HO and Legacy HO

E///: The source needs to ack it for further data forwarding handling
HW: The source node can decide whether eMBB HO or legacy HO should be triggered

New cause value needs to be introduced?
CB: # 21_eMBBHOSig
- open issue3 listed above
- Introduce new cause value for the HANDOVER PREPARATION FAILURE message?
(E///)
Summary of offline in R3-196148



This contribution summarizes the offline discussion.
2
Summary of offline discussion

The need of a fallback mechanism and/or a cause value (i.e. “eMBB rejected”) was discussed and 2 questions were raised:
1. What would be the reason(s) for the target node to reject an eMBB handover while being able to accept a legacy handover?

2. If there is one or more reasons answering to the above question, does the source node need to know that the target node accept or not the eMBB handover?

It was clarified that these 2 questions need to be answered before RAN3 can conclude on the need of fallback mechanism and/or a cause value.

Regarding the 1st question, the following reason was identified:

· The UE capabilities are not compatible with (source configuration + target configuration) – Pending to RAN2
3
Conclusion

The identified reason identified in question 1 is pending to RAN2 therefore it is recommended to wait for RAN2 progress on capabilities, unless other reasons are raised. 
